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HPOTEINOMENEX
AITANTHYXEIY OEMATQN

OEMA A
A2. a./\ ogA. 42

B. ¥ oeA. 132
y. A\ ogh. 128
0. X oeA. 193
€. N\ OeA. 276

A1.1- 0, 2—y, 3—8, 4—a, 5— o1

©OEMAB
B1l. oeA. 159 3 TeAcieg ovopaoTIKa
B2. oeA. 194 4 TeAeie¢ ovopaoTIKA
OEMAT
M. oeA.152 Avdloya E...... Scroll

2. oeA. 297 Enueia Al kai A

OEMA A
A1. CR = Py/Py = 10/2 =5
PKGT(UUV) = PK(]T - Pc('[p = 10 - 1 = 9bar

PGV(UUV): Pav — Pmp =2-1=1bar
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A2. /T, = V,/T, — 0,02/T, = 0,04/600 — 0,04 * T, = 0,02 * 600 — T, = (0,02 * 600) / 0,04 = 600 / 2 = 300K
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